Group No. 01 Repair & Renovation of Layer House-7 along with electrification work at Poultry Research & Training Centre, Kaushalnagar under B.A.S.U., Patna for the year 2023-2024

## OFFICE OF THE ESTATE OFFICE BIHAR ANIMAL SCIENCES UNIVERSITY

(TENDER DOCUMENT)

<u>NAME OF WORK:</u> Repair & Renovation of Layer House-7 along with electrification work at Poultry Research & Training Centre, Kaushalnagar under B.A.S.U., Patna for the year 2023-2024.

Tender amount: ₹ 12,26,477/-

Cost of BOQ: ₹ 2,500/-

EMD:-₹ 25,000/-

Name of Agency:

1. Tenders in closed envelope on plain paper to be eventually drawn in U.E. Form 61 No. F2/K2/H will be received upto 15:00 hours upto 24.11.2023 through Speed Post/Courier/In person by the undersigned and will be opened in presence of the tenderers or their authorized agents.

. The bill of quantity will be downloaded from university website www.basu.org.in upto 17:00 hrs on or before

23.11.2023. There will be no sale on the date of receiving tender.

- 3. The tender documents downloaded from the website will be submitted with Cost of B.O.Q in the form of Demand Draft in favour of FINANCE COMPTROLLER, BIHAR ANIMAL SCIENCES UNIVERSITY, PATNA. Tenders submitted without cost of B.O.Q. in the form of demand draft will be summarily rejected.
- 4. Tenderers are required to deposit Earnest money at the rate of ₹ 100/- for every 5000/- or part thereof of the amount of the Estimate. Earnest Money can be deposited in shape of Demand Draft, N.S.C., N.D.C., Post Office Saving Bank Deposit, Post Office Time Deposit duly pledged to ESTATE OFFICER, BIHAR ANIMAL SCIENCES UNIVERSITY, PATNA. The tenderers shall have to attach a copy of N.P.S.C., N.D.C., N.S.C., D.D., or Pass Book with their quotations otherwise these tenders may outright be rejected. N.S.C., N.D.C. D.D., of Pass Book furnished after the receipt of tender on specified date and time will in no case be entertained.
- 5. Tenderers shall quote their rates both in figures and words and initial all corrections, over writings interpolations. Indefinite forms like estimated rates etc. should not be considered.
- 6. The percentage rates quoted by the contractors should be inclusive of all taxes royalties and other incidental charges (i.e. LabourCess etc.). Maximum applicable percentage rate below estimated cost is in accordance with RCD notification no. 447(s) dated 16.01.2020 in compliance of order of Hon'ble High Court, Patna pronounced in CWJC No. 9941/2022 dated 06.07.2023..
- 7. The Contractor should satisfy themselves fully about the nature and site of works before offering their tenders and plea of any ignorance afterwards shall not be considered.
- 8. Tender without Earnest Money or insufficient Earnest Money will be rejected and there will be no position on the body of C.S.
- 9. After approval of rates by the competent authority the contractor shall have to deposit the initial Security money in shape of N.S.C. within 10 days of the receipt of the written orders from Engineer I/C and execute agreement failing which his tender shall be rejected and Earnest Money forfeited.
- 10. Authority shall reserve the right to reject any or all the tenders or distribute the work to more than one contractor without assigning any reasons.
- 11. The claim for idle labours due to stoppage of work non supply of materials, drawing and designs or delay due to any other reasons shall not be entertained.
- 12. The Contractor shall arrange necessary site for accommodation and other facilities like medical aid etc. for his labours at his own cost and initiative as well as will comply with all labours rules prevalent in the locality.
- 13. The specification of work mentioned in B.O.Q. where not mentioned in that case S.B.C., P.W.D., will be followed during the progress of the work. In case of any difference of things not being clear the instructions of the Estate Officer shall be followed.
- 14. No claim shall be entertained due to fluctuation of rates of labour and materials at any time during completion of
- 15. The contractor employing trucks for carriage of materials or other works shall comply with the rules of Motor Vehicles Act.
- 16. It will be obligatory on the part of the tenders to keep his tender open for a period of 6 months (180 days) from the date of opening of tender for acceptance.
- 17. The contractor should maintain the Repair / Renovation Work during the defect liability period from the date of completion of work.
- 18. No. work beyond agreement shall be executed by the contractor unless specifically ordered by the Engineer In Charge in writing.
- 19. Registered Class IV Contractors of the P.W.D (R.C.D. & B.C.D.), Patna having satisfactory records of work will be allowed to tender for the work.

Bihar Animal Sciences university, Patna

Bill of Quantity for Repair & Renovation of Layer House-7 along with electrification work at Poultry Research & Training Centre, Kaushalnagar under B.A.S.U., Patna for the year 2023-2024

	2024				
Last Da	ed Cost :- Rs.12,26,477 =00 te of downloading tender paper:- 23.11.2023 upto 5:0	0 p.m.		be deposited :- B.O.Q :-	₹ 25000=00 ₹ 2500=00
Last Da	te of Receiving Tender :- 24.11.2023 upto 3:00 p.m.		Time of	Completion :-	60 Days
SI.No.	Item of Work	Quantity	unit	Rate	Amount
	Dismantling old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 metres lead.				
15.56		218.24	m²@	21.70 /m²	₹ 4736=00
(2).	12 mm th.C.P. of mix (1:6) including all complete job		,		
13.11.4		218.24	m²@	141.50 /m²	₹ 30881=00
(3).	Demolishing cement concrete including disposal of material within 50 metre lead: 1:3:6 or richer mix		,	/	
15.2.1		10.124	m³@	970.90 /m³	₹ 9829=00
(4).	Cement concrete flooring 1:2:4(1 cement:2 coarse:sand:4 graded stone agregate) finished with a floating coat of neat cement including cement slurry, etc. but excluding the cost of nosing of steps etc. complete. 40 mm thick with 20 mm nominal size stone aggregate as per building specification and direction of E/I,		/		
11.3.1	Specification and discoulon of Em	253.11	l m²@	289.10 /m²	₹ 73174=00
(5).	Earth work in excavation in foundation trenches or drains(not exceeding 1.5 m in width or 10 sqm on plan) including dressing of sides and ramming of bottoms, lift upto 1.5 m . including getting out the excavted soil and disposal of surplus excavated soil as directed, within a lead of 50 m.				
2.8.1		1.84	4 m³ @	383.70 /m³	₹ 706=00
(6).	Brick work with bricks of class designation 100A in foundations and plinth in : Cement mortar 1 .:4 (1 cement: 4 coarse sand)		_		/
6.1.12		,		3	
(7).	under floors including, watering, ramming	4.0	7 m³ @	5,017.90 /m <sup>3</sup>	₹ 20423=00
2.28	consolidating and dressing complete.	10.6	1 m³ @	287.30 /m³	₹ 3048=00
(8).	joints filled with local sand including cost of watering, taxes, royalty all complete as				
11.72	per building specification and direction of E/I,	69.6	8 m²@	283.30 /m²	₹ 19740=00

M

(9).	Providing and laying cement concreate in kerbs, steps and the like at or near ground level excluding the cost of centring, shuttering and finishing.			
4.4.1	1:2:4 (1 Cement :2 coarse sand :4 grade stone aggregate 20 mm nominal size)	/		
		12.74 m³ @	3998.10 /m³	₹ 50936=00
(10).	12 mm cement plaster 1:3( 1 cement: 3 coarse sand) finished with a floating coat of neat cement			
13.17.		63.48 m²@	203.60 /m <sup>2</sup>	₹ 12925=00
(11).	Demolishing brick work including stacking of serviceable material and disposal of unserviceable material within 50 meters lead:		- 3	,
15.7.4	· 사이업에 기업 계대에 가는 소설에 가장하는 가입하다는 요한 전에 가장 그리고 하는 것이다. 그리고 하는 것이다. 그런 그리고 하는 것이다. 그런 그리고 하는 것이다.	15.51 m³ @	823.70 /m³	₹ 12776=00
(12).	Providing and fixing M.S. grills of required pattern in frames of windows etc. with M.S. flats, square or round bars etc. including priming coat with approved steel primer all complete			
9.48.1		1,620.00 Kg @	144.50 /Kg	₹ 234090=00
(13).	Brick work with bricks of class designation 100A in foundations and plinth in : Cement mortar 1:6 (1 cement: 6 coarse sand ) Extra for Brick work in superstructure above plinth level upto floor V		/	/
6.1.14	A + 6.3A	1 41 m³ @	5,662.10 /m³	₹ 7984=00
(14). 10.5.1	Providing and fixing 1 mm thick M.S. sheet door with frame of 40x40x6 mm angle iron and 3mm MS gusset plates at the junction and corners.all necessary fittings completejncluding applying a priming coat of approved steel primer. Using M.S. angle 40x40x6 mm for diagonal braces	4.310 m <sup>2</sup> @	3653.00 /m²	₹ 15744=00
(15).	Steel work welded in built up sections/framed work including cutting hoisting, rixing in position andapplying a priming coat of approved steel primer using structural steel, etc. as required. In gratings, frames, guard bar, ladders, railings, brackts, gates & similar works.			
10.32	A STATE OF THE PROPERTY OF THE STATE OF THE	40.32 Kg @	114.60 /Kg	₹ 4621=00
(16).	Providing and fixing hard drawn steel wire fabric of size 75 x25 mm mesh or other suitable size wire mesh to be fixed & firmly anchored to the concrete surface by means of "L" shaped mild steel shear key welded with existing reinforcement including the cost of materials, labour, tool & plants as approved by Engineer-in-charge.			
26.40		33.44 m²@	729.30 /m²	₹ 24388=00



(17). 10.22(t	Welding by electric plant incluiding transportation of electric welding plant at site etc. complete.			Page 3/6
securit	M	1,004.00 cm @	3.50 /cm.	₹ 3514=00
(18).	Dismantling roofing including ridges, hips valleys and gutters etc. and stacking the material within 50 metres lead of: Asbestos sheet			
15.28.2				
		274.25 miles	24.22.1.1	
(19).	Providing asbestos cement 6 mm thick corrugated sheets roofing and fixing with G.I. J or L hooks bolts and nuts 8 mm dia G. I. plain and bitumen washers complete excluding the cost or purlins, rafters and trusses corrugated sheet.	274.35 m² @	31.90 /m²	₹ 8752=00
12.10	.1			
		274.24 m <sup>2</sup> @	371.70 /m²	₹ 101935=00
(20)	Providing and placing on terrace (at all floor levels) polyethylene water storage tank, ISI: 12701 marked, with cover and suitable locking arrangement and making necessary holes for inlet, outlet and overflow pipes but without fittings and the base support for tank.			
18.48		2,000 lit. @	9.70 /lit.	₹19400=00
(21)	Providing and fixing G.I. pipes complete with G.I. fittings and clamps, including cutting and making good the walls etc. Internal work - Exposed on wall			
	External work		/	
18.1	an in the control to the control	60.00 m @	227.70 /m	₹ 13662=00
18.1	0.3 b. 25 mm dia nominal bore	30.00 m @	399.90 /m	₹ 11997=00
(22	Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end):			
18.1	17.1 a. 25 mm nominal outer dia Pipes	10		
	the second secon	18 no @	532.30 /each	₹ 9581=00
	5). Making connection of G.I. distribution branch with G.I. main of following sizes by providing and fixing tee, including cutting and threading the pipe etc. complete:			,
	a. 25 to 40 mm nominal bore	30 no @	446.70 /each	₹13401=00
		00 110 0	TO TO TOUCH	(13401=00
	4). Providing & fixing G.I. Tees (equal) 25 mm C. 1608 + C.P. + O.H.			
3.0	7 1000 + C.P. + C.H.	50 no @	84.55 /each	₹ 4228=00
(2	25). Providing and fixing G.I. Union in G.I. pipe including cutting and threading the pipe and making long screws etc. complete (New work):	/		(4220-00
	46.1a. 15 mm nominal bore	12 no @	158.80 /each	₹ 1906=00
18	.46.3 b. 25 mm nominal bore	8 no @	265.90 Teach	₹2127=00
(	26). Providing and fixing C.P. Bib cock			
18	.49	20 no @	434.20 /each	₹8684=00



				Page 3/6
(17)	. Welding by electric plant incluidng transportation			
10.22	of electric welding plant at site etc. complete.	1,004.00 cm @	3.50 /cm.	₹ 3514=00
		1,004.00 cm @	0.00 /0	(332)
(40)	Dismontling roofing including sides 1			
(18)	Dismantling roofing including ridges, hips valleys and gutters etc. and stacking the material within 50			
	metres lead of: Asbestos sheet			
15.28	5.2	274.35 m <sup>2</sup> @	31.90 /m²	₹ 8752=00
		214.33 111 @	31.30 ///	(0/32-00
(19)	. Providing asbestos cement 6 mm thick corrugated			
	sheets roofing and fixing with G.I. J or L hooks			
	bolts and nuts 8 mm dia G. I. plain and bitumen washers complete excluding the cost or purlins,			
	rafters and trusses corrugated sheet.			
12.10	.1	274.24 m <sup>2</sup> @	371.70 /m²	₹ 101935=00
		27 1127 111 @		
(20)	. Providing and placing on terrace (at all floor levels)			*
	polyethylene water storage tank, ISI : 12701 marked,			
	with cover and suitable locking arrangement and making necessary holes for inlet, outlet and			
	overflow pipes but without fittings and the base	/		
40.40	support for tank.	2,000 lit. @	9.70 /lit.	₹ 19400=00
18.48		2,000 III.	5.70 ma	( 20 .00
(21)				
	fittings and clamps, including cutting and making			
	good the walls etc. Internal work - Exposed on wall			
				,
	External work			
18.10		60.00 m @	227.70 /m	₹ 13662=00 ₹ 11997=00
18.10	b. 25 mm dia nominal bore	30.00 m @	399.90 /m <sup>*</sup>	₹ 11997=00
(22)	. Providing and fixing gun metal gate valve with C.I.			
(22)	wheel of approved quality (screwed end) :			
	L. Di	18 no @	532.30 /each	₹ 9581=00
18.17	.1 a. 25 mm nominal outer dia Pipes	10 110 @	332.30 /eacii	( )501-00
(23).	Making connection of G.I. distribution branch with			
	G.I. main of following sizes by providing and fixing			
	tee, including cutting and threading the pipe etc. complete:			/
18.13	.1	20 -	440.70 /h	₹13401=00
a.	25 to 40 mm nominal bore	30 no @	446.70 /each	(13401=00
(24).	Providing & fixing G.I. Tees (equal) 25 mm			
S.C. 1	1608 + C.P. + O.H.		24.55 /	₹ 4228=00
		50 no @	84.55 /each	₹ 4226=00
(25).	Providing and fixing G.I. Union in G.I. pipe			
(/-	including cutting and threading the pipe and			
	making long screws etc. complete (New work) :			
	.1a. 15 mm nominal bore	12 no @	158.80 /each	₹ 1906=00
18.46.	3 b. 25 mm nominal bore	8 no @	265.90 <i>T</i> each	₹ 2127=00
(26).	Providing and fixing C.P. Bib cock			
18.49		20 no @	434.20 /each	₹ 8684=00
a seen corre				



(27	<ol> <li>Removing white or colour wash by scrapping and sand paper in and preparing the surface smooth</li> </ol>			
	including necessary repair scratches etc. complete			
13.7	4	654.71 m <sup>2</sup> @	7.70 /m²	₹ 5041=00
(28	<ol> <li>Providing and applying white cement based putty of average thickness 1 mm, of approved brand and manufacturer, over the plastered wall surface to prepare the surface even and smoothcomplete.</li> </ol>			
13.8	0A.1			
1010		218.24 m²@	81.10 /m <sup>2</sup>	₹ 17699=00
(29	<ol> <li>Finishing walls with Acrylic Smooth exterior paint of required shade: Old work (Two or more coat applied @ 1.67 ltr/ 10 sqm) on existing cement paint</li> </ol>			
14.6	surface 6.1	872.95 m <sup>2</sup> @	81.70 /m <sup>2</sup>	₹ 71320=00
(30	). Painting with ready mixed paint of approved brand and manufacture in all shades to give an even			
	shade: New steel work (two or more coats)			
13.8	2.1	278.06 m <sup>2</sup> @	83.50 /m²	₹ 23218=00
(31	<ol> <li>Providing extra labour for site clearance etc inc.all complete job</li> </ol>			
	01 Labour (Helper) 27 Plumber	15 no @ 4 no @	398.05 /each 508.64 /each	₹ 5971=00 ₹ 2035=00
(32	). Carriage of materials including all complete job			
	a. Sone Sand (Lead 45 Km.)	17.64 m³ @	1,134.70 /m <sup>3</sup>	₹ 20016=00
	b. Stone Chips (Lead 110 Km.) c. Bricks Lead (1+7) Km.	23.41 m³ @ 4,454 no. @	2,427.53 /m³ 1,140.59 %0 no.	₹ 56828=00 ₹ 5080=00
	c. Bricks Lead (1+7) Km. d. Local Sand (Lead 3 Km.)	11.66 m³ @	283.32 /m³	₹ 3304=00
(33	). Extra cost of materials			
	a. Bricks	4,454 no. @	1,590.97 %0 no.	₹ 7086=00
	b. Cement	207 bag @	13.13 /bag	₹ 2718=00
Elec	trical Works	•		
(34	). Wiring for light point/ fan point/ exhaust fan point/			
1.1.3		70.00 Point @	681.00 /point	₹ 47670=00
(35	Wiring for light/ power plug plug with 2 X 4 sq. mm FR PVC insulated copper conductor single core cable in surface / recessed medium class PVC conduit along with 1 Nos 4 sq. mm FR PVC insulated copper conductor single core cable for loop earthing as required.			/
1	.5			
	<del></del>	150.00 Mtr @	200.00 /Mtr	₹ 30000=00
(36)				
1.7.2	2 X 2.5 sq. mm + 1 X 2.5 sq. mm earth wire	100.00 Mtr @	161.00 /Mtr	₹ 16100=00
(67)	Supplying and fiving metalinus have of 490mm V			
(37) 1.3	. Supplying and fixing metal/pvc box of 180mm X 30	16 no @	286.00 /each	₹ 4576=00

R

M.	Supplying and fixing 0	/		
(38).	Supplying and fixing 2 pin, 6 amp ceiling rose on	50 no @	42.00 /each	₹ 2100=00
(00)	Supplying and fiving better/	/		
(39). 3 1.34	Supplying and fixing batten/ angle holder including	20 no @	46.00 /each	₹ 920=00
		20 1.0 @		
	Providing and fixing following rating and breaking	3 no @	2,158.00 /each	₹ 6474=00
	25/100 Amp, 10 KA 160 Amp, 35 KA	1 no @	9,787.00 /each	₹ 9787=00
(41).	Providing and fixing following capacity busbar			
	100 Amps	1 no @	3,684.00 /each	₹ 3684=00
(40)	Description and fining fallowing associated and la			
(42). 2.6.5	Providing and fixing following capacity double  100 Amp, four pole	1 no @	7,814.00 /each	₹7814=00
(43). 2.9.1	Supplying and fixing following way, horizontal type 4 way (4 + 12), Single door, horizontal type	3 no @	1,680.00 /each	₹ 5040=00
		V Q		
15 15	Supplying and fixing following rating, 240/415 6/32 amps, Single pole	36 no @	192.00 /each	₹ 6912=00
	50/63 amps, Tripole pole and neutral	3 no @	1,635.00 /each	₹ 4905=00 /
(45).	Providing and fixing M.V. danger notice plate of 200			
2.20		1 no @	178.00 /each	₹ 178=00
(46).	Earthing with G.I. earth plate 600 mm X 600 mm X 6			
3.4		1 no @	6276.00 /each	₹ 6276=00
(47).	Providing and fixing 25 mm X 5 mm G.I. strip on			
3.15		40 m @	150.00 /m	₹ 6000=00
(48).	Supplying and fixing wall/floor mounted cubical		/	
8.10.2		12 Sq.ft @	1382.00 /Sq.ft	₹ 16584=00
(49).	Supply and fixing digital voltmeter, three phase in		/	
8.10.4		1 no @	1337.00 /each	₹ 1337=00
(50).	Supply and fixing digital Ammeter, three phase with			
8.10.6		1 no @	1643.00 /each	₹ 1643=00
(51).	Supply and installation of regular/standard model			
8.11.2		1 no @	1618.00 /each	₹ 1618=00
(52).	Pilot lamp for indicator			
2318		3 no @	91.50 /each	₹ 275=00
(53).	3.5 core, 25 sq. mm XLPE/PVC insulated PVC	1		/
2205		120 Mtr @	126.00 /Mtr	₹ 15120=00 /
(54).	Fixing for laying of one number PVC insulated and			/
7.4.1	Upto 35 sq. mm (Clamped with 1 mm thick saddle)	120.00 Mtr @	29.00 /Mtr	₹ 3480=00

1

(55). 5.9.1	Supplying and fixing following powder coated Single	40.00 no @	565.00 /each	₹ 22600=00
(56). MR	Supplying and fixing Air Turbine Roof Ventilator 24"	8 no @	6135.00 /each	₹ 49080=00
(57). 8667	UV-stabilised 2 mm thick plain frp sheet.	24 sqm @	450.00 /Sqm	₹ 10800=00
			Total	₹ 1226477=00

Estate officer L B.A.S.U., Fatna Group No. 01 Repair & Renovation of Layer House-7 along with electrification work at Poultry Research & Training Centre, Kaushalnagar under B.A.S.U., Patna for the year 2023-2024

The Estate Officer Bihar Animal Sciences University Patna 800 014

		Total Control of the	
(a)	Name of the bidder/firm Address of the bidder Mobile No.		
(b)	Registration No.(Class IV) (copy to be enclosed)		
(c)	Detail of Cost of BOQ (In favour of FINANCE COMPTROLLER, BASU, PATNA) D.D. No. Date of Issue Bank Name		
(d)	Detail of Earnest money		
(e)	PAN No.		
(f)	( copy to be enclosed)  GST No. ( copy to be enclosed)		
(g)	To 1 ladgement certificate	-	
(h)	C +: C to		
(i)	Signature of tenderer		
(I) (I)	(a.) (Estimated 7 2) (a.) (In word) Pe (b.) (In figure) Pe (b.) (In figure) Pe (b.) (In figure) Pe	Analysed) rates shown in the bill of quantities.  Frecent above the rates shown in the bill of quantities ercent above the rates shown in the bill of quantities ercent below the rates shown in the bill of quantities ercent below the rates shown in the bill of quantities ercent below the rates shown in the bill of quantities	s s der.

Name & full signature of the Tenderer

1)	No. of Cutting
2)	No. of over writing
3)	Rate quoted

Estate Office
Bihar Animal Sciences University
Patna – 14

## Froup No. 01 Repair & Renovation of Layer House-7 along with electrification work at Poultry Research & Training Centre, Kaushalnagar under B.A.S.U., Patna for the year 2023-2024

## N.I.T. SPECIAL CONDITIONS

- Rates quoted should be inclusive of all taxes, royalities carriage and all other incidental charges what so ever.
- The contractor shall not stipulate any additional conditions in their tender for increase of rates due to increase in rate of taxation. Rly. Freight and etc.
- The rates should be written in figures as well as in words in such a way that interpolation is not possible and total amount of each item should be written both in figures and words and total amount of each page will also indicate both in figures and words.
- Taxes, Rly. Freight and incidental charges on materials and labour in respect of the contractor shall be payable by the contractor and University shall not entertain any claim whatsoever in this respect.
- The tenderers should acquaint themselves with the work and working conditions of the site locality and no claim will be entertained on this issue.
- Site of execution of the work will be available as soon as work in awarded. In case, it is not possible for the department to take the entire site available on the award of the work, the contractor will have to arrange his working programme accordingly.
- The contractor's responsibility for the construction shall commence from the date of issue of work order
- The contractor shall study the specification, drawings and design carefully before submitting the tender 7.
- The work will be executed according to the approved and sanctioned design and drawing from time to time which will be binding on the contractor. No claim for the changes or modification in drawing and design will be
- 10. Contractor shall have to keep in upto date account of materials at site and his stores shall be inspected and stock taking will be done as and when required by the supervising staff of the department. The contractor should arrange for such inspection and free access should be given to the Supervising staff for such check up.
- 11. Quantities mentioned in the bill of quantity are approximate and the same may increase of decrease.
- 12. No claim shall be entertained on the grounds of fluctuation of rate in labour and materials etc. in the market during the period of filling the tender and completion of work.
- 13. The contractor shall arrange for necessary site accommodation and other facilities for the labour and no claim for medical aid to labour or any other incidental charges shall be entertained.
- 14. No claim for idle labour due to non-supply or delayed supply of materials machinery, design etc. by the
- 15. The contractor shall strictly follow the conditions laid down in the minimum wages act. He shall also comply with the labour laws as may be current and furnish information as required from time to time.
- 16. All materials brought to sit by the motor vehicle, other than vehicles belonging to the contractor for this work, should be by public carrier vehicles. The carriage of such materials by Private carrier would be illegal and contractor will accordingly be responsible for employing private carrier instead of public carrier.
- 17. The mortar vehicles rules should be followed by the contractor will also be responsible for infringement of traffic rules accident, damages to roads and culverts etc. No responsibility for all or any of the above things will
- 18. The work shall be done according to the University specification. In respect of such items of work which is not covered by the University specification the specification laid down by the Superintending Engineer, South Bihar Circle shall be allowed which will be final and conclusive.
- 19. All R.C.C. as well as plain cement concrete work shall be machine mixed and vibrated properly and submerged with 2" constant head of water over horizontally laid concrete component and constant spray curing on verticals concrete complete as directed by Engineer In-charge.
- 20. All shuttering and centering materials shall be arranged and procured by the contractor at his own cost and shall consist of rigid and sound work and steel works not to deform or disturb as a sequel to the working of vibrator. A scaffolding materials shall also be procured and arrange by the contractor at his cost. In case of centering and shuttering of R.C.C. column only steel plates of requisites thickness shall be used in centering and shuttering and not the wooden planks, so as to give smooth surface.
- 21. No claim shall be entertained for cleaning and scraping rusts and normal elements from steel issued by the
- 22. All R.C.C. works shall be designed as per latest I.S. code of practice.
- 23. If during execution of work, any item which is provided in the bill of quantities is not required to be executed due to change of specification etc. the contractor will have no claim whatsoever if that item is not done through
- 24. The contractor shall get the samples of bricks, sand stone chips etc. approved by the Estate Officer before undertaking mass collection of the same. Sample of the approved quality of materials shall be kept in the custody for comparison later on when the contractor's supply is made during progress of the work.
- 25. For overall structural works except plastering clean and coarse sone sand shall be used. For plastering, clean and medium sone sand shall be used and should be screened to 256 mesh in one square inch before used in
- 26. Flat iron, for making grills for window, hand rails for stair case etc. shall be procured by the tenderer himself.

Group No. 01 Repair & Renovation of Layer House-7 along with electrification work at Poultry Research & Training Centre, Kaushalnagar under B.A.S.U., Patna for the year 2023-2024

27. All points of welding in grills etc. must be clean smooth and strong. The samples of grill shall be got approved

by the Estate Officer before taking up mass manufacture.

28. After completion of work the building floor shall be thoroughly washed and cleaned. The ugly marks on glass panes shutters etc. shall be removed and damages made good. The works of paint cement etc. shall be removed and cleaned nicely at the contractor's cost.

29. The contractor shall remove all his surplus materials rubbish etc. and leave the site clean and tidy after levelling and dressing the premises of the works as directed by the Engineer In-charge and then the work shall be

considered as complete.

30. The site should be cleaned of all rubbishes, levelled and dressing as directed by the Engineer In-charge and shall prepare for layout works. Engineer weeds stumps of trees if any shall be removed by the contractor at his cost before layout is taken up as directed by the Engineer I/C. The cost of masonary pages stradingsalabours and etc. are incidental expenditures in layout of the work and shall not constitute a claim for the some.

31. The arrangements and the cost of all the store shed, labour shed, tools scaffolding water supply arrangement electric supply and building accessories shall be borne by the contractor at his cost and noting will rest with the depart. The contractor shall also provide all facilities and medical aid to the labours employed, at his cost.

32. Any approach road necessary for carriage of building materials to site of work, will have to be constructed by the contractor at his own cost and no claim for the same will be entertained by the department.

33. The department will not hold itself responsible if the work has be stopped at any stage of progress due to reasons beyond the control of the department and no claim will be entertained for the same.

34. The contractor shall comply sufficient number of skilled and experienced labours to the job in order to achieve proportionate time given for the work during, execution of work, if his any mason or labour is found avoiding instructions to follow, shall be turn out at once from the work site.

35. In all R.C.C. and R.C.C. works, stone chips and sone sand of specified size grade and quality confirming to the Indian standard specification no. 456-964 shall be used. The bricks to be used in all brick works shall confirm

requirement of relevant I.S. Code.

36. The jamb and soffit of the door and windows openings should be smooth, true to plumb and suitable spaces will have to be left for receiving W.I. clamps as per direction of Engineer In- Charge for which no claim shall be

37. Procurement of water in all seasons with all leads and lift will rest with the contractor at his cost.

38. The N.I.T. special conditions and other condition attached with the bill quantity will form intergral part of the contract document and should be dully signed by the tendered on each page as taken of acceptance while submitting the tender for the work. 39. The contractor will be responsible for accident etc. if any during execution of work and nothing will rest with

40. Suitable recess for fixing claps for doors and window, Jali work and railings whenever required, shall have to be provided by the contractor in brick walls, R.C.C. columns and R.C.C. roof as per direction of Engineer I/C without any cost.

41. The Engineer in-charge will have full powers to inquire the removal, from the premises of the site, of all materials which in his opening are not in accordance with, specification and in case of default the Engineer. I/C

is at liberty to sell such inferior material at the contractor's cost and risks.

42. The contractor shall offer all facilities to the departmental officers for supervision, taking measurements, checking of bills etc. and any damage so occurred in the process will be made good by the contractor at his own

43. During casting R.C.C. foundation, the foundation trenches shall be kept free from water and if necessary the

water shall be pumped out for which no extra payment to contractor shall be paid.

44. In on account bills of the contractors, the maximum rate of any item of work for payment not included in the agreement, will be the BASU, Patna Schedule rates of work fixed time to time. In case BASU not having their own schedule of rates, the schedule rate of work of S.B./C., P.W.D. may be followed.

45. In case any item of work not covered by Bihar Animal Sciences University, Patna or P.W.D. / B.C.D schedule of rates may be paid as per actual analysis of rates obtained from the local market.

Bihar Animal Sciences Un